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repeater B) bridge C) router D) gateway (58) CCITTU U O O O O
OX200000000_ 0O A)X.400B) X.75C) X.121 D)
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CSMA/CD C) Token Bus D) TokenRing (60) U O O OO OO O
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Instrucion that uses indirect addressing must contain an address of
memory where_ [1 A) data is stored B) another address is stored
C) a page fault is addressed D) a pepeline stall will be executed (62)
Let R be a binary relation on a set S such that for each x,y,z[1 S, if xRy
and xRz then y =z. Which of the following must be true? [ (2
[1) A) Ris anti-symmetric B) R is transitive C) R is an equivalence
relation D) R is a function (63) If p and g are Boolean variables,
which of the following formulas is (are) tautological? [0 . (

1 P-q)amp.nb sp.Neither B) 01 only C) Ol only D) U and [
Questions 65- 66 refer to the space requirements of different
methods of storing graphs. The choices for these questions are
combinations of the following statements. [1 . The space required
depends on the number of vertices. [ . The space required depends
on the number of edges. (65) When the adjacency matrix method is



used to store a graph, which of the statements is (are) true? [
A) NoneB) L0 only C) [0 only D) I and I (66) When the
adjacency list method is used to store a graph, which of the
statements is (are) true? [0 A) NoneB) [ only C) OO only D)
1 and O Questions 67-68 are based on the following information,
A hash table with hash function h1(k)=k mod 13 is shown below. 0 1
234567891011 12353348 25 Collision is resolved using the
hash function h2(k)=(k mod 11) 1. (67) How many key
comparisons occur in searching for key 35 in the given hash
table? 1 (20)A)0B)1C)2D) 3(68)&amp. If a new key 67 is
Inserted into the given hash table, what will be its address? [ (2
[1)A)3B)4C)5D) 6 (69) Suppose the contents of the DOS
IF1.BAT file on the hard disk is as follows. @QECHO OFF
MEM>FILE1 SORTFILE2 DEL FILE1 @DATE @TIME IF EXIST
%1 ECHO % IF FOUND If all of the commands are successfully
executed after IF1 FILEL is typed, then the screen displays? [
A) None B) Date and time C) FILE1 ISFOUND D) FILE2 IS
FOUND (70) If the files in the current directory are aac, abc,
acb,acc, aca, ao, al, a2, ab, ac, aa, and the command Is a?[bc] is
executed, how many files will be listed? 1 (20)A)3B)4C)5
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